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Topic:- General English

1) Out of the given four sentences, choose the one which is grammatically
correct.

1. She has collect postcards from all over the world
2. She have collected postcards from all over the world
3. She collects postcards from all over the world

4. She collect postcards from all over the world

Correct Answer :-

« She collects postcards from all over the world

2) Out of the given four sentences, choose the one which is grammatically
correct.

1. She has been suffering badly from stress.
2. She has been suffered badly from stress.
3. She have been suffering badly from stress.

4. She have suffered badly from stress.

Correct Answer :-

« She has been suffering badly from stress.

3) Out of the given four words only one is spelt correctly. Find the word that is
correctly spelt.

1. Secular



2. Sccissors
3. Sacrifise

4. Sacretary

Correct Answer :-

« Secular

4) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. Laboratory
2. Equality
3. Leebrality

4. knowledge

Correct Answer :-

« Leebrality

5) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

We were waiting (a)/ at the station, (b)/ were we? (c)/ No Error (d)
1. (a)
2. (b)
3.(d)
4. (c)

Correct Answer :-

6) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

When he was built, (a)/ the Empire State Building was (b)/ the tallest building
in the world. (c)/ No Error (d)



1. (a)
2. (b)
3. (d)
4. (c)

Correct Answer :-

7) DIRECTIONS: Find the word which can be replaced for the given sentence.
Property that descends to an heir.

1. Pediatrics

2. Atheism

3. Heritage

4. Antique

Correct Answer :-

» Heritage

8) DIRECTIONS: Find the word which can be replaced for the given sentence.
Diverse in character or content.

1. Transparent

2. Heterogeneous

3. Homogeneous

4. Opaque

Correct Answer :-

« Heterogeneous

9) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘To put down in black and
white’ in the sentence given below?

I think I understand what you are talking about, but we need to put down the
details in black and white.




1. None of the above
2. to shout loudly so that everybody can hear
3. to argue loudly

4. to write down on a paper

Correct Answer :-

« to write down on a paper

10) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘at the bottom of the ladder’ in
the sentence given below?

Tech start-ups may start at the bottom of the ladder economically, but given
their business model, they have a very high potential for growth.

1. None of the above
2. at the lowest level
3. at the highest level

4. in the middle position

Correct Answer :-

« at the lowest level

11) DIRECTIONS: A sentence with an underlined word is given below. Find the
Word which is most similar in meaning to the underlined word.

The project is completely in accord with government policy.
1. quarrel

2. conflict

3. agreement

4. disagreement

Correct Answer :-

e agreement

12) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.



The disease can be caused by a variety of viruses, bacteria, and other small
organisms that contaminate food or water.

1. dirty

2. stale

3. pollute

4. purify

Correct Answer :-
o purify

13) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

Tax has been deducted from the payments.
1. vanished

2. eliminated

3. subtracted

4. added

Correct Answer :-
« added
14) DIRECTIONS: Fill in the blank with the correct Preposition.

A real diamond can easily scratch a pane glass.

1. among

2. with

3. of

4. between
Correct Answer :-

e Of

15) DIRECTIONS: Fill in the blank with the correct Preposition.

He was totally ignorant his progress.



1. from
2. by
3. among

4., of

Correct Answer :-

16) DIRECTIONS: Fill in the blank with the correct article.
Welive__ few miles from the city.

1. No article required

2. the

3.an

4. a

Correct Answer :-

. a

17) DIRECTIONS: Fill in the blank with the correct article.
I'm learning to play piano.

1. No article required

2. the

3.an

4. a

Correct Answer :-
e the

18) DIRECTIONS: Out of the given four options, choose the correct Conjunction
to fill in the blank given in the sentence.

He looked disappointed at their decision, didn't argue.

1. but



2. because
3. either

4. neither

Correct Answer :-

« but

19) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

We ran after him.
He escaped.

1. Else

2. And

3. But

4, So

Correct Answer :-

« But

20) DIRECTIONS: Out of the given options, choose the most appropriate one to
fill in the blank.

You your car serviced before the winter.
1. ought to have

2. ought not to

3. May

4. Might

Correct Answer :-

« ought to have

Topic:- General Science

1)



The process by which a chemical change takes place in a substance when

electric current is passed through it is called-/ ﬁmﬁﬂﬁmwﬁﬁﬁﬁ?{qﬂ
YR yaTied #37 W R gR1 ugrd § ymafie ulad= §1d 8, &) $ed 8-

1. Thermionic conduction/ dI-If® AT
2. Electroplating/ SaaeI@ifeT
3. Electrodes/ 3dacigy

4. Electrolysis/ fagad smuee+

Correct Answer :-

« Electrolysis/ ﬁg&ﬁw

2) The walls of the large intestine absorb-/ Ss! 3 SaNT Pl 8-
1. Water/ Sicl

2. Digested proteins/tﬁlﬁtﬁ‘c‘ﬁ

3. Digested food/ Gfid HisH

4. Cellulose/ WVTGT

Correct Answer :-

« Water/ 9d

3) The acceleration due to gravity on the moon's surface is:/ W%Wﬂr_{m
P TdE TR @R B:

1. Approximately equal to that near the earth's surface/ wmaﬁa‘rq@ﬁw%ﬁm%
2. Approximately six times that near the earth's surface/ q@m"rwmwaﬂw 6 11

3. Approximately one-sixth of that near the earth's surface/ TTHT Gl &1 Idg & e H1
1/6 AT

4. Slightly greater than that near the earth's surface/ il &1 qdg & Fdc 4 $& fAH
Correct Answer :-

« Approximately one-sixth of that near the earth's surface/ WWE{@ﬁW%ﬁWW
1/6 AT

4) How does pressure vary as we move from sea level to the mountain top?/ Sd

U IS 99 I Udd & R 9% W14 €, @) <9 5 yer uRafda ghm?



1. Increases/ EEHT%

2. Increases upto a few kilometre and then decreases/@ﬁﬁﬁtﬁaﬂﬁm% 3R fohR gear

3. Decreases upto a few kilometres and then increases/ & fhalHicR 0@ HH gIdl § 3R R
g

4. Decreases/ ®H ﬁ?ﬂ %

Correct Answer :-

. Decreases/WIIEﬁT‘iT%r

5) Yeast is used in the production of-/ d¥ &1 3uanT H IAGT A AT gl
1. Sugar QD

2. None of these/ T8 T ®Is =gl

3. Alcohol/ Tehigd
4. Oxygen/ eIt

Correct Answer :-

« Alcohol/ Tehigd

6) In mammals the female secondary sexual chracters are developed by the

hormone./ T4t ¥ Are fgdtaes Al agor w199 gTa gRT fas e gid 3-
1. Relaxin/ Rafeg

2. Progesterone/ ioReRi-

3. Estrogens/ T&IoH

4. Gonadotropins/ TiiHeIcIU"

Correct Answer :-

« Estrogens/ TS

7) A distance-/ T& gil-

1. Is neither positive nor negative/ T Al YIS T & HBUMHS Bl §

2. Is always negative/ Jcd HUMHS Bl &

3. Is always positive/ﬂ%ﬂ TP Bl &



4. May be positive as well as negative/ YdTHD Il BUMTHD B ghdl g

Correct Answer :-

« Is always positive/ﬂaﬁmﬁ?ﬁ%

8) Staticelectricity _ ./ fRRfagaa__ .
1. Sometimes flows/ &W-Hft varfed g1t 8

2. None of these/ S8 I ®Ig g

3. Flows in the circuit Ry ¥ yarfed gt 8

4. Does not flow/ UaIed gl gicit &

Correct Answer :-

« Does not flow/ w%aﬁsﬁ?ﬁ%

9) Which one of the following can be used as an acid-base indicator by a
visually impared student?/ 5% o & ®19-I1 51 BT §R1 3IRAT &R Ja& & U A
SUANT fmaT ST T 82

1. Petunia leaves/dgar ufiai
2. Turmeric/'e!?cﬁ
3. Litmus/ feremd

4. Vanilla essence/d-iidl 3¥d

Correct Answer :-
« Vanilla essence/@-dr A9

10) Which of the following is very reactive and kept in kerosene?/ 9 # § HF-d
wfafspar=iia g ford Fd= ot war s 82

1. Iodine/3RATS
2. Bromine/sliH
3. Sodium/aifeaq
4. Potassium/dicRrad

Correct Answer :-



« Sodium/™Afesaq

11) Which of the following substance will not give carbon dioxide on treatment
with dilute acid?/ g ugrdf # T S A1 yerd Saffifia ond & AU H1d SI53UTaI1SS Bl 8!
e P 32

1. Marble/ AR
2. Baking soda/ dfdhTT TIeT
3. Lime/ <Al

4. Limestone/ ATURR

Correct Answer :-

12) Which of the following is considered as 'Kitchen' of the plant cell?/ faaa
53 UTgU SIRMGT BT IASIR’ FET AT S ?

1. Leucoplast/ 3quff dasw
2. Chromoplast/ guffdas

3. None of these/ sﬂﬁ@f aﬁ'sc:@
4. Chloroplast/ gRd @a®

Correct Answer :-

« Chloroplast/ gRd @a®

13) The standard unit of force is-/ 9 & AP B ¢
1. Gram-weight/ UTH-HR

2. Metre/second?/HIc/ A US2

3. Metre/second/ Hicx/AHTS

4. Newton/ <gc-

Correct Answer :-

« Newton/<gcH



14) Near the earth's surface air rises up whereas air comes

down:/ 7t Hag & 9Hiq I S 31 g TafH arg - et @
1. Cold, cold/ 3USt, 3USl

2. Hot, hot/ TH, TH

3. Hot, cold/ TI'Jfr[, 3US!

4. Cold, hot/ &UST, T

Correct Answer :-

« Hot, cold/ TH, 3US!

15) Egg shell is made up of? / 33 T 3a3VT fHIH ST gAT g1 82
1. Ca(OH),

2. CaC03

3. Ca0

4. CaCl,

Correct Answer :-

» CaCO3

16) Sperms in males are produced in-/ 7R ¥ YHTY] IUF Bid 8-
1. Epididymis/ 3{fquor o

2. Urethra/ﬂﬁmﬁﬁ

3. Testes/ quur

4. Penis/ Ry A

Correct Answer :-

« Epididymis/ 3ffquor o

17) Bean shaped excretory organ of human is-/ WW@HWWWW%—

1. Ureter/TATaTg-1

2. Urinary bladder/ AR

3. Urethra/ T



4. Kidney/dd®

Correct Answer :-

« Kidney/da®

18) The aqua regia is:/W—W%z
1. 3HCI (conc.) + 1 HNO3 (conc.)

2. 3NHO3 (conc.) + 1 HCI (conc.)

3. HNO3 (conc.) + H,SO4 (conc.)

4. HHO3 (conc.) + HCI (conc.)

Correct Answer :-

« 3HCI (conc.) + 1 HNO3 (conc.)

19) Chemical formula of washing soda is:/ AT & IS IEAE T HT3?
1. NayC03.2H,0
2. Na»C03.7H,0
3. Na,C03.5H,0

4. N62CO3.10H20

Correct Answer :-

¢ NayC03.10H,0

20) Which of the following is a natural luminous source of light?/ {3 # & S19-T1 Tefa® ufadifta
qTAT DT Tl 32

1. Torch/E'\IJ?f

2. Sun/ ﬁ*f

3. Wood/ Eﬁ

4. Electric Iamp/ﬁ"g{ﬁlﬁaﬂr

Correct Answer :-

. Sun/iﬂ}?c



Topic:- General Knowledge

1) Virender Sehwag scored his maiden double-century in an ODI at Indore in

the year:/%%ﬂﬂﬁ%ﬁﬁéﬁ?ﬁ&@ﬁﬁ@ﬁﬂﬁMWWﬁWW@ﬁ
i

1. 2010
2.2013
3.2011

4, 2012

Correct Answer :-

« 2011

2) Chinkara is a locally made instrument used in the recitation of the
Bhartrihari folk lore is actually a form of:/ fRi®RI, WY *u q duR fFT U e &,
St i Hdel dtewursi & ure ¥ S frar 9aT 8, aRaa A ............... PITHE TS

1. Dafli/ Swalt
2. Sarangi/ IRt
3. Guitar/ fTleR

4. Tabla/ dddl

Correct Answer :-

« Sarangi/ IR

3) Other than in Madhya Pradesh, how many other working diamond mines are

there in India?/9eUe & ATdl, YR | frasit 31 HRIMT TR B @ 82
1.2
2.3
3.1

4.0

Correct Answer :-



4) Patalkot if seen from the top of a valley appears to be in the shape of a:/

3R U F FW | 3T A1 § A Urdrersd e e 3 o1 f3wrs a1 82
1. None of these/ 3T Y BIs g

2. Horse-shoe/ HIS &1 ATdl

3. Square/ it

4. Rectangle/ 3Od

Correct Answer :-

« Horse-shoe/ 91s &1 A1@

5) In which city was the Gyandoot scheme started by the Madhya Pradesh
government? /JTgd TISHT AU IRBR A BIH- R F = 3t A2

1. Dhar/ 4R
2. Datia/ &fadn
3. Sagar/ 94 R

4, Ratlam/ IdciTH

Correct Answer :-

6) Shankar Dayal Sharma served as the President of India from the year:/®

&are ¥1 A ford adf & R & gufa & U H a1 e
1.1994

2.1993

3.1991

4.1992

Correct Answer :-

« 1992

7) When was Kala Parishad established in Madhya Pradesh?/AsUcyl H &dl uRug
Fa RTfUd g3 2

1. 1951



2. 1953
3.1952
4. 1950

Correct Answer :-

« 1952

8) Which of the following is an important copper-ore producing district?/ fad
| - T TP Ugayul didT 3P IcuTeed foran g2

1. Betul/ 9

2. Gwalior/ TaIferR

3. Rewa/ Ifar

4, Balaghat / dIcITdIC

Correct Answer :-

« Balaghat / dIcUIC

9) Which of the following districts lie in the Sone VaIIey?/ﬁHﬁ'@ﬁﬁlﬁﬁﬁﬁ?—
1 forar Wi aredt 9 82

1. Sidhi/dte
2. None of these/’a’qﬁ‘@[aﬁg:@

3. Shahdol/YgsId
4. Both of the above/maﬂiﬁﬁ

Correct Answer :-

« Both of the above/B'CIﬁTﬁ?ﬁ:ﬁ

10) Who out of the following politicians was born in Madhya Pradesh?/fufafad
eI | A fra®T o 0 g yexT | goiT UT?

1. Narendra Modi/Tg HIl
2. Atal Behari Vajpayee/3fcd [9gR} areradt

3. Arun JaitleyBWUT@E?ﬁ



4. Manmohan Singh/IFIﬁIE:Tﬁi's’

Correct Answer :-

« Atal Behari Vajpayee/3fcd fogRl areradt

11) Which place of Madhya Pradesh is the centre for stone-carving?/ﬂwm
PI-HT URR B TFBTR BT $g 82

1. Bhopal/ﬂ-ﬁtﬂﬂ
2. Gwalior/TTferR
3. Ratlam/Idd™H
4. Mandu/HTg

Correct Answer :-

. Gwalior/‘aﬂ%ﬂ?

12) When was the banyan tree declared as the state tree by the Madhya
Pradesh government? /U0 USRI IRER A 3549 & & &4 T TS & Us DI H9 °ifvd fhar?

1.1975
2.1980
3.1981
4.1982
Correct Answer :-
« 1981

13) Which river flows through the Madhai forest?/ ®I9-d1 4] 7SS a9 & A A Tt
22

1. Betwa/ Sdar
2. Ken/ H
3. Tawa/ ddl

4. Manihar/ Iﬂ%l_(ﬂ?

Correct Answer :-



14) Satyadev Dubey was a renowned:/ m@wm q?
1. Sitarist/RIdR diGeH

2. Playwright/dIch R

3. Politician/JSHifas

4. Scientist/JFM®

Correct Answer :-

« Playwright/dlch®R

15) The Halali Reservoir is in the District of Madhya Pradesh./ §d@Ta!
ST 0 W H Ik

1. Vidisha/ fafe=m
2. Hoshangabad/ BIRATETG
3. Bhopal/ Hara
4. Raisen/ I

Correct Answer :-

« Raisen/ T

16) The Ken-Betwa river-linking project will benefit the states of Madhya

Pradesh and:/ &+1-34dT -Tdl- Siig= qrelt UfRaieT Aeg ueT iR forsy ¥rsa &1 ary ugerit?
1. Chhattisgarh/ g
2. Uttar Pradesh/ 3R Uc®l

3. Gujarat/ TeRTd
4, Rajasthan/ ST

Correct Answer :-

. Uttar Pradesh/ 3TR UexI

17) The ‘Rajya Anandam Sansthan’ of the Madhya Pradesh Government will be
responsible for development of the:/ AT U TRPHR & 'I5d ATHGH G-I & fapg



%WWW:
1. None of these/ 378 4 B3 g

2. Happiness Index/ Q=i Gadid
3. Poverty Index/ TRIdl gddbic

4. Food Index/ Qe Jadhich

Correct Answer :-

« Happiness Index/ WRM Yabich

18) The Indian Institute of Forest Management was established in the year?/

YRA a9 U SR ! fog ad & wifie farar mar ure
1.1975
2. 1980
3.1970
4.1982

Correct Answer :-

« 1982

19) The Shahi Qila is situated at:/=IT8} fher wal fRUT 82
1. Burhanpur / §R8HYR

2. Chanderi / &3

3. Hoshangabad / FHERIEI

4. Mandu / #Ig

Correct Answer :-

« Burhanpur / §RgMMYR

20) Madhya Pradesh is the largest producer of in the country /AU 33T
| P HaA 91 UGS 3:

1. Apples/@a’

2. Oranges/daRT



3. Soybeans/JrATE

4. Rice/dIdd

Correct Answer :-

« Soybeans/IHAmEH

Topic:- General Hindi

1) IAR, AR iR HUTd | TSR TURR U 8 :
1. 31ST TRIU

2. i b1l
3. Wddd Hd
4. AREY

Correct Answer :-

- g WR



Correct Answer :-

. fae=i

4) ‘PTHAN UG H AT G
1. 3T

2. T8

3. TGRY

4.98

Correct Answer :-

- ARy

5) «3ifer 2reg o1 S A 2
1. YT
2. B

3. gl
4. AfG

Correct Answer :-



1. AP
2. T

3. Jard T
4, YRl

Correct Answer :-

. Jad gl

8) ‘hu-bhY HeR JTHA M T €, MA-TTd AN foree et - ufa A @
1. Geifad PR

2. Iopifad PR
3. JffaRNfad PR
4, AT PR

Correct Answer :-

. IPifad MAPR

9) fpdq feT qU=T #1 g IT- T E :
1. YIRS S

2. fom A ga s WA

3, HIASIYD I
4. Tafegae ST

Correct Answer :-

. BIAGIYD TG

10) FHNT T A UTT @ :
1. 9

2.3

3.1

4.9



Correct Answer :-

.

11) ‘Consolidated’ &I %‘cﬁ TR HIN® Yoq % :
1. §fId

2. Fdvyg

3. gHfdbd

4. OB RD

Correct Answer :-

. gAfHd

12) TP ST YETAX BT AR @ :

1. forfl A1 1 IelT=T & §gd 8- B

2. PR BTH B
3. 39d g4t
4. 3GHI UIN HAl

Correct Answer :-

. oot <fist B IeT=T § §gd 8- B

13) ‘3(TY gId dl a1 W T8} IS USdl- I @ :

1. ARITEDR dIH
2. TORAD i

3. fAyar® are

4. hard® arR

Correct Answer :-

. hdrded ar

14) R o ATV F fru TR AR



1. TR
2. HIuTd
3.3GR
4. TEAR

Correct Answer :-

. Yo

15) GETeT U@ $ pfa e
1. BT

2. dg

3. AR

4. URHd

Correct Answer :-

16) Hfd FRAGRIF THUTKDHT Bt YT § :
1. sfof

2. HRAT

3. Hfelt

4. 3fael

Correct Answer :-

o ool

17) fefafae ¥ faeiv wes-gm T8 8 -
1. gN-fddbr

2. Gyc-fdgceH

3. Gau-faam

4. Gol1-TUgR



Correct Answer :-

- Hau-faga

18) FafrRad g a8

1. 39 T&H & Fg F fooefl & dopra 9 ghm|
2.1 g1 & had Jal AR g

3. XN ¢ fb S0 TR O 1 DI SR e &l
4. ASHT B AP Gredl g3 TR AT

Correct Answer :-

. TSHT SHYAT AP Gladl g3 TR S|

19) FufflT A s R 8 :

1§
2. BT
3. Y=Y
4, Yo

Correct Answer :-

20) frraferfEa & g fende e-gm T e
1. STHRUT-S{THRUT

2. FTS-3ETS

3. Hid-Fpdl

4. 3T-3TTd

Correct Answer :-

Topic:- General Maths



1) DIRECTIONS: Find the wrong term in the given number series:/ﬁi“\’r: ﬁgﬁ
@ 4oft § Terd ug I He |

10, 16, 48, 320, 4860

1. 4860

2.48

3.320

4. 16

Correct Answer :-
e 4860

2) The average height of 16 students is 142 cm. If the height of the teacher is
included, the average height increases by 1 cm. The height of the teacher

is: /16 faenfial & dargal &1 sita 142 I 21 a2 Rrere &) warg @1 +ff wnfae frar sme @
3Na daTg | 1 9 B gfS 8 ol B 1 Rigrw ot dars | 2

1. 159 cm/159 I#
2. 156 cm/156 I
3. 158 cm/158 IH

4,157 cm/157 9+t

Correct Answer :-

« 159 cm/159 9t

3) I have to be at a certain place at a certain time and I find that I shall be 15
minutes too late, if I walks at 4 km an hour; and 10 minutes too soon, if I
walks at 6 km an hour. How far (in km) have I to walk?/ﬂﬁwm\_ﬂ's'q?tﬁ?
W 99T TR IUfYd ¥&-T1 8 Td & uran § f afe & 4 5.9, ufa ve1 9 vwar @ s g ot 15
firte 3 ¥ U U9 i} 6 b, ufy der P YW @ oran § a1 10 fde vsd uga W
g feaeit gt (.10, &) aa o=+t gl

1.8
2.3
3.6

4.5



Correct Answer :-

4) The product of two successive numbers is 9506. Which is the smaller of the

two numbers?/ &l HHTTA JBT3M T IUHEE 9506 3| S @i # Sidt H= Hi Al 32
1.97
2. 96
3.98
4.99

Correct Answer :-

5) The roots of the quadratic equation 2y2 -9y +9=0 are: /fgara gfieur 2y2 -
9y +9 =0 FHAR:

1.6, 3

B3| =

6) The number of revolutions made by a wheel of 28 cm diameter in covering a

distance of 8.8 km is:/T® UfgT gRT 8.8 fordll. ot gt T B | T 1T Taml Y H@&M
=1 gfl, Tfe ufdw &1 e 28 AW R:

1. 1000
2. 8000
3.100

4.10,000

Correct Answer :-



7) In a rhombus, the lengths of two diagonals are 10 m and 24 m, then length

of side of rhombus is:/T® THAGHS & &l fawuil @1 Frarg 10 Hex aur 24 e §, 9t STt
YOIl 1 TS g

1.22 m/22 HicX
2.8 m/8 HIR

3.11 m/11 ®icR
4.13 m/13 HicR

Correct Answer :-
« 13 m/13 1:1 x

8) A, B and C can do a work in 4, 6 and 10 days respectively. They finish the
work together and earn Rs.310. What is the share of each?/ A, B 3R C f&ft &
P HUT: 4, 6, 3N 10 G A T HT TP 31 A TP 1Y ST UG H¥P U 310 HATA 21
TS B fpa-it Aergl fenti?

1. Rs.140, Rs.110, Rs.60
2. Rs.160, Rs.90, Rs.60
3.Rs.150, Rs.110, Rs.50

4. Rs.150, Rs.100, Rs.60

Correct Answer :-

e Rs.150, Rs.100, Rs.60

9) A man covers a certain distance by car driving at 70 kmph and he returns to
the starting point riding on a scooter at 55 kmph. Find his average speed for

the whole journey:/®Ig afad T i3 gt 70 fEwi/aver $t 1fd I FR gRT Ta HXar g au
9% 55 frtit/aver 91 1fa A TpeR gRT SR U g WR 9UH diedr 8 1 9 $ SR 39St Sia
Tifa @ 42

1. 63.6 kmph/63.6 f&H/g0eT
2. 64.6 kmph/64.6 fdbHt/gueT
3.61.6 kmph/61.6 faHt/gueT

4. 62.8 kmph/62.8 forHl/guer



Correct Answer :-

« 61.6 kmph/61.6 f&Hl/guer

10) There is sufficient food for 400 men for 31 days. After 28 days, 280 men
leave the place. For how many days will the rest of the food last for the rest of

the men? /%l S8 WX 400 il & fore 31 fa= &1 Wie wafw 21 28 fa7 g 280 =fR
SIE BISHR I T | TT §3MT HIoH 72 ¢ fadl & o1d fpam fef & fore wafw @2

1. 5 days/5 faA
2.12 days/12 fad
3. 15 days/15 &4

4.10 days/10 f&a

Correct Answer :-

. 10 days/10 f&q

11) DIRECTIONS: What should come in place of the question mark (?) in the
following question? /e fAfefad u=wa & yxAara® R (2) & RIF R &1 3141 91fge?

3.19

4. 18

Correct Answer :-

« 20

12) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /% Fafafaa goft & yyars fore (2) & WM W T 3T A1fgw?

2,6,?, 20,30
1. 15
2.22

3.12



4. 10

Correct Answer :-

« 12

13) Ritesh borrowed a sum of Rs.18,350 at 15% p.a. simple interest from Meenu
for 3 years. What was the amount paid by Ritesh?/ﬁﬁﬂﬁlﬂiﬁ 159, yfaay AryrRor
=TS B1 &R I &9 a9l & I 18,350 ¥. IUR w1 fed=r & grT fa-it iy & wireefi?

1. 26607.5
2.27607.5
3.25607.5

4. 24607.5

Correct Answer :-

» 26607.5

14) The least perfect square numbers which is divisible by each of the numbers

16, 20 and 24 is?/Iad Bl QUi ¥ "& &1 fh "W=aii 16, 20 TUT 24 A fyufora g2
1. 6,400

2. 3,600

3. 14,400

4.1,600

Correct Answer :-

15) A is 20 years older than B. He is also 6 times as old as B. Then what is the

age of A?/ A, B 20 TE TSTE TUTA B 3G, B B AR BT 6 TATE | A B 3T FT3?
1. 42 years/42 a4
2. 24 years/24 Gl
3. 30 years/30 ¥

4. 35 years/35 G

Correct Answer :-



. 24 years/24 99

16) The ratio of the salaries of Akhshay and Amir is 8 : 9. If Akhshay’s salary is
increased by 50% and Amir’s salary is reduced by 25%, then their ratio
becomes 16 : 9. What is the salary of Akshay?/3i&dd 3R & dqaT ST UG8 : 9 B
Tfe &R BT Aq-T 50% TET AT dYUT HR & = A 25% B HH D1 oY df SIUTd 16 : 9
AT 8 | S1&T PT da FI1 8?2

1. Rs.22,000
2. Rs.28,500
3. Rs.37,000
4. Can’t be determined,/3Td 8! foa1 ST 8

Correct Answer :-
« Can't be determined/Si'I?f=|'é°r'ﬁ°'5ﬂ\_yrI?IT%r

17) By selling 20 metres of cloth, a man gains the selling price of 4 metres of
cloth. The gain percent is:/ T® S ®I 20 HieX FUST 9T W 4 Hiex $US & fawpa gau
& RIS ATH T BT 8 | ATy afa=ra 2

1. 25%
2. 30%
3.20%

4. 35%

Correct Answer :-
e 259%

18) Harshit’s salary has increased from Rs.825 to Rs.900. What is the
percentage increase in his salary?/EﬁHWa?Fl 825 W'@W%OW?’[WI 9P
a1 o fora= ufa=ma @1 3f3 g3

1.7.07%
2. 8.08%
3.9.09%

4. 8.56%

Correct Answer :-



19) Find the smallest of the following fractions./Fufefad fie & @ 9a@ sid =
A B

57
1. 31

71

2 36

91

3,44
83
4,41

Correct Answer :-

20) Find the largest of the following fractions./fFafaf@d i & 3 gad a3t i 319
|
%
1. 66
ﬁ
2. 55
E
3, 44

64
4,33

Correct Answer :-

64
o 33



